0.10 -

0.08 -

Power

0.04

0.02

0.00 -

20 A

O-C [min]

20 A

O-C [min]

—10 -1

N
o
1

Residuals [min]

Lomb-Scargle Periodogram

0.06 A

l?

Al

—— Data

—— Period: 19.28 epochs

—-== 99% FAP (Power = 0.2)
Data - Fourier Fit 1
Period: 19.34 epochs
99% FAP (Power = 0.2)

ot | T
Period [epoch]

103

10 A

-== Linear Fit (BIC: -982.57)
—— Fourier Fit 1st (BIC: -983.58) below 99% FAP
Fourier Fit 2nd (BIC: -974.89) below 99% FAP
¢ Data

—-400 —-300 —-200
Epochs

—100 0

10 A

¢

1-sigma region
3-sigma region
¢ Data

{ ; '
e bty *M*;HW t*"*“ﬂ* - A O

|

0.0 0.2 0.4 0.6
Phase (Period: 19.28 epochs)

0.8 1.0

=
(521
1

. t
e +*1*fi*+*+‘#+f**#++t++'**#t#'f*t{*t’

|

|
i

1-sigma region
3-sigma region
¢ Data - Fourier Fit 1

*HH**# *4**

0.0 0.2 0.4 0.6
Phase (Period: 19.34 epochs)

0.8 1.0




